/DIIRB

*UXSD 5R]NiDG $"0 6 - 7\J
o
™
=
n
oD
o)
™
o3
7\ 7\
z 6\VIHP RFKURQ\ SUDZQHI 6\VIHP RFKURQ\ SUDZQHI
= Z 8QlL (XURSHIVNHI Z Z 80l (XIRSHIVNHI Z
Q GU "HINQJ =IXN $QQD GU "HINQJ =JIXN $QQD
%) $"06 - $"06 -
ZINJ  ]DICFID GR
7N 7N 7N 7N
. . (VIHINND QRZ\FK
3RVICSRZDQIH 3RVICSRZDQIH (VIHINND QRZ\FK PHGlyZ NRQ GU
VaGRZRDGPIQIVIDF\IQH VaGRZRDGPIQIVIDF\IQH PHGlyZ NRQ GU 2]ICERZVN. ODUXV]
a Z G zyiFIFND (2D Z G zyiFIFND (2D 2]ICERZVNL ODUXV] $°06 .
o $"06 = $"06 $°06 .
o 7\G]
> 7\6] 7\6] 6RFIRRID
6RFIRIRID 6RFIRRID ZVSYiFTHVQRGFL Z  SIRI
ZVSYiFTHVQRGFL Z  SIRI ZVSYiFTHVQRGFL Z  SIRI QDG]Z 5RVyi $GDP
QDG]Z 5RVyi $GDP QDG]Z 5RVyi $GDP $"06 -
$"06 - $"06 -
7\] 7\] 7\] 7\]
6\VIHP RFKURQ\ SUDZQHI 6\VIHP RFKURQ\ SUDZQHI 6RFIRRID 6RFIRRID
Z 8QlL (XURSHIVNHI Z Z 8QlL (XIRSHIVNHI Z ZVSYiFHVQRGFL Z  SIRI ZVSYiFTHVQRGFL Z  SIRI
a GU "H\QJ " JIXN $QQD GU "H\QJ " JIXN $QQD QDG]Z SRVy: $GDP QDG]Z SRVy: $GDP
=] $"06 - $"06 - $"06 - $"06 -
=
o 7\G]
g (VIHIND QRZ\FK

PHGlyZ NRQ Gl
2]LCERRZVNL ODUXV]
$"06 .
=DICFLD RG JRG]




